MiTo 2011-2013

(OZ\E[Is[I-M MITO 2011-2013

(6=1CT o)Al 18.4 AIR-BAG DEVICES
\Ell 01
REA 00

Description Compatibility Modif. ‘Qty ‘ Notes
1 156089175 | AIR-BAG 1

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




MiTo 2011-2013

(OZ\E[Is[I-M MITO 2011-2013

(O=1CT[o)Al 18.4 AIR-BAG DEVICES
Var. o
REA 00

Part Num. Description Compatibility Modif. ‘ Qty ‘ Notes
1 50528411 | AIR-BAG 1
2 11568024 | SCREW AND WASHERASSY, 2
M8X18
3 50512716 | SCREW, M6X32 4

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




MiTo 2011-2013

(OZ\E[Is[I-W MITO 2011-2013

(O=1CT oAl 18.4 AIR-BAG DEVICES
Var. ol 614
G 00

w

3
/&x\

/ _:}:‘1‘?--..
/ ~ -,

A\

/

Description Compatibility ‘ Modif. ‘ Qty ‘ Notes

1 50518978 | WINDOW BAG, RIGHT C15740 1

1 52025700 | WINDOW BAG, RIGHT D15740 1

1 50518979 | WINDOW BAG, LEFT C15740 1

1 52025701 | WINDOW BAG, LEFT D15740 1

2 51765588 | CLIP 2

3 11567627 | SCREW 4
614 HEAD BAGS

15740 HEAD BAG. ADOPT. OF IGNITEV COMPONENT SUPPLIER SDI INSTEAD OF PATVAG [TEL 1186909]

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




MiTo 2011-2013

(o 1= {[oTs I MITO 2011-2013

o1y 18.4 AIR-BAG DEVICES

Var. Ko

RCYA 00

70601 - 040 ¢

N
|

T

N

[\

[/ 5

. /-3
_ 1
7
N
-

S
G,

Description
AIR-BAG, RIGHT

Compatibility
71752082

Modif. | Qty |

Notes

71752081 | AIR-BAG, LEFT

7770156 | BRACKET

51775950 | ORNAMENT, RIGHT

51775949 | ORNAMENT, LEFT

13832101 | NUT, M6

46997981 | RIVET

46555555 | SCREW

735410637 | PROTECTION, RIGHT

NN ORI W W N~ =

735410638 | PROTECTION, LEFT

22NN 22N~

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register

www.mitoregister.com




MiTo 2011-2013

(OZ\E[Is[I-W MITO 2011-2013
(6=1CT o)Al 18.4 AIR-BAG DEVICES
Var. o LHD + 150
G 00

Part Num. Description Compatibility Modif. ‘ Qty ‘ Notes
1 156101373 | AIR-BAG 150 1
2 11570024 | SCREW, M6X22 150 2
3 46558583 | SCREW 150 1
150 DRIVER SIDE KNEE BAG
LHD STEERING:LEFT

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




MiTo 2011-2013

(OZ\E[Is[I-W MITO 2011-2013

(O=1CT o)Al 18.4 AIR-BAG DEVICES
Var. 14 RHD + 150
G 00

Description Compatibility Modif. ‘Qty ‘ Notes

1 156101374 | AIR-BAG 1

2 50513944 | BRACKET, RIGHT RHD 1

3 50513772 | BRACKET, LEFT RHD 1

4 11570024 | SCREW, M6X22 150 2

5 46558583 | SCREW 150 1

6 11567624 | SCREW, M6X14 RHD 1

7 51743653 | RIVET RHD 2

150 DRIVER SIDE KNEE BAG

RHD STEERING:RIGHT

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




MiTo 2011-2013

(OZ\E[Is[I-M MITO 2011-2013

(6=1CT o3l 18.4 AIR-BAG DEVICES
Var. o
REA 00

Description Compatibility Modif. ‘ Qty ‘ Notes
50524710 | CONTROL UNIT FOR AIRBAG

1

2 51870158 | SENSOR
3 14084211 | NUT, M6
4 14059210 | NUT, M6

WININ| =

Copyright © 2019 Alfa Romeo Owners Club | MiTo Register www.mitoregister.com




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7

